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SAMPLE PAPER   FOR FIRST TERM EXAMINATON JUNE,2010

CLASS: IX                                                                           SUBJECT:MATHEMATICS

MAX.MARKS: 80                                                               TIME      :  3 HOURS

GENERL INSTRUCTIONS:


a) ALL QUESTIONS ARE COMPULSORY.

b) THIS QUESTION PAPER CONSISTS OF 34 QUESTIONS DIVIDED INTO FOUR SECTIONS  A, B, C and D

c) In section A questions 1 to 8 are of 1 mark each, questions 9-12 are of 2 marks each.
d) Questions of section –B are of 2 marks each, section-C  are of 3 marks each and section-D are of 4 marks each.
e) USE OF CALCULATOR IS NOT ALLOWED.
SECTION – A

1. Decimal form of  √2 is
      (a) Terminating (b) Non-terminating (c) non-terminating & non-repeating (d) none of these
2     Area of an equilateral triagle of side 10cm is…………..
3.    Let p(x) be a polynomial, if p(2)=0 , then 

 
(a) (x-2) is a factor (b) (x+2) is a factor


 (
c) 2 is remainder                        (d)2 is the degree of the polynomial
4.
If   (x-1) is a factor of P(x) =  x2 + 7x – K, value of  K is (a) 0 (b) 2 (c)  8 
5.      AB = AC in right triangle ABC, right angled at A.  Measure of <B is……….

         (a) 60  (b) 45   (c) 50  (d) none of these

6.   Write down any two axioms of Euclid.
7.  The  Co-ordinate axes meet at  (a)  (0,K) (b)  (0,0)  (c)  (k,0)
8.   The  point  P lies on the X-axis. Then P is of the form                                                                           
       (a) (0,K)       (b)( K,0)
(C) None of these
9. AB  =  AC in triangle ABC.   < A = 80 0 
    and the bisectors of  < B and < C meet at  O. 

    The  measure of  <  BOC is   (a) 40   (b)90  (c) 145 (d) 130
10. AB = AC in ( ABC .   AD is drawn perpendicular to BC. 
    ( ADC  (   ( ADB  by  (a) RHS (b) SAS (c) ASA (d) SSS
11.   
AB    CD. The bisectors of < BPQ and


 < DQP meet at O.


Measure of  < POQ is ……..  (a)  60    (b) 90   (c)  45.
12.
If  x2 +y2+z2 =50 and xy+yz+zx=7 ,then x+y+z is equal to

        (a) 7       (b) 8      (c) 36             (d)49

SECTION-B( 7 questions of 2 marks each)
13.     If    82   =  4 m+1 , find the value of m.
                                    OR
         125 1/3  x  27 1/3 ( 62 + 82 )1/2
14.    Represent   (9.5  on number line
15
Evaluate (9 . 8)3 by a suitable identity
16     Factorise:  2 a4  + 54 a.
17      Prove that the hypotenuse is the longest side of a right triangle

18      Simplify:   5 √48 - 6√ 200 +5√72 + 5√300
19.
( ABC is an isosceles triangle in which AB = AC. 

Side BA is produced to D such that AD = AB.

Show that < BCD is a right angle.

SECTION – C(10 Questions of  3 marks each)
20.
PR  >   PQ and PS bisects  < QPR. 

Prove that  < PSR > PSQ.

21. Side BC of a triangle ABC is produced to the point D as 


shown in the figure. The bisector of  < A meets BC at L. 


Prove that < ABC + < ACD = 2 < ALC.


                      OR 

In ( ABC,    BE is the bisector of < B and CE is the 


bisector of < ACD.



(a)
Prove that < BEC  =  ½ <A.

22.
Verify that:


(a+b+c) [(a-b)2 + (b-c) 2 + (c-a) 2 ]   =  2 (a3 + b3 + c3 - 3abc

23     Factorise:   x3 – 23 x2 + 142 x – 120

24      Find the value of  27x3 + 64 y3 – 125 + 180 xy,  if  3x + 4y = 5.

25     Plot the following points on a Cartesian Plane:

               (3,0),   ( -5,4)  , ( -3 , -5 )   ,  ( 0,6) and  (3,4)
26
(a)Express the following in the form of p/q  form 15.712

            (b) Write down an irrational No. lying between  ½    and ¾ 
27        Sum of the angles of a  triangle  is 180.  Prove.

28         Sides AB and AC are extended to points P and Q respectively such that BP=CQ.If      
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PBC=1150 and 
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QCB =1200  ,show that AQ>AP
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29.In fig. show that AB((EF             
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SECTION – D(5 Questions of  4 marks each)
30.
Two triangles are congruent if two angles and the included side of one triangle are equal to two angles and the included side of the other triangle.
31.
The polynomials  kx3 + 3x2 – 3 and  2x3 – 5x + k,  when divided by (x-4) leave the same remainder in each case. Find value of k.

                     

 OR 

Find the value of a and b, if  (x-2) and (x-3) are factors  of   x3 + ax2+bx-30.

32.      Simplify: 
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OR

If   x =  9-4 √5       find √x   -  1/√x
33.    The parallel sides of  a trapezium are  60 cm and  the  36 cm and  the  non-parallel sides are 
          13 cm each. Find the area of the trapezium.
34. ( ABC   is right angled at B .  M is the mid -point   of AC and BD. Prove the following:
         (a) ( AMB = (CMD

         (b) < DCB is a right angle
          (c)   DM = ½ AC
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